
IB
C

0L
02C

u
rren

t
0

20
40

60
80

100

right_bcm_d10

0

200

400

600

800

1000

1200
3

10
×

rig
h

t_b
cm

_d
10:IB

C
0L

02C
u

rren
t {(((((rig

h
t_b

cm
_d

10>1100000 &
&

 rig
h

t_b
cm

_d
10<1110000 &

&
 ((rig

h
t_clkco

u
n

t/1024.0 > 150 &
&

 rig
h

t_clkco
u

n
t/1024.0<185 )||(rig

h
t_clkco

u
n

t/1024.0 > 245 &
&

 rig
h

t_clkco
u

n
t/1024.0<280 )|| (rig

h
t_clkco

u
n

t/1024.0 > 315 &
&

 rig
h

t_clkco
u

n
t/1024.0<340 )||(rig

h
t_clkco

u
n

t/1024.0 > 150 &
&

 rig
h

t_clkco
u

n
t/1024.0<185 )||(rig

h
t_clkco

u
n

t/1024.0 > 365 &
&

 rig
h

t_clkco
u

n
t/1024.0<425 )))||(rig

h
t_b

cm
_d

10>1000000 &
&

 rig
h

t_b
cm

_d
10<1020000 &

&
 rig

h
t_clkco

u
n

t/1024.0 > 485 &
&

 rig
h

t_clkco
u

n
t/1024.0<545 ))||(rig

h
t_b

cm
_d

10>480000 &
&

 rig
h

t_b
cm

_d
10<490000 &

&
 rig

h
t_clkco

u
n

t/1024.0 > 645 &
&

 rig
h

t_clkco
u

n
t/1024.0<720 ))||(rig

h
t_b

cm
_d

10>220000 &
&

 rig
h

t_b
cm

_d
10<240000 &

&
 rig

h
t_clkco

u
n

t/1024.0 > 760 &
&

 rig
h

t_clkco
u

n
t/1024.0<820 ))||(rig

h
t_b

cm
_d

10>120000 &
&

 rig
h

t_b
cm

_d
10<130000 &

&
 rig

h
t_clkco

u
n

t/1024.0 > 895 &
&

 rig
h

t_clkco
u

n
t/1024.0<945 ))||(rig

h
t_b

cm
_d

10>45000 &
&

 rig
h

t_b
cm

_d
10<50000 &

&
 ((rig

h
t_clkco

u
n

t/1024.0 > 980 &
&

 rig
h

t_clkco
u

n
t/1024.0<1025)||(rig

h
t_clkco

u
n

t/1024.0 > 1055 &
&

 rig
h

t_clkco
u

n
t/1024.0<1110) ))}


